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= H 4 s a
* = R e e 2o 48 Zo + B
E & 4 16,369,225 15,577,609 -791,616
| == = 4 11,601,826 8,953,244 -2,648,582
T = = = 4 151,117,654 165,681,313 14,563,659
ES o = 4 37,393,554 37,393,554 =
A = At H cH 4 52,702,198 55,887,034 3,184,836
= A 0 269,184 457 283,492,754 14,308,297
¢ o (3 - HI|  11.50% 4 11,621,739 12,881,817 1,260,078
o) A L d 2| 375% 4 4,225,512 4,683,661 458,149
a 2 B H =3 0.87% 4 980,318 1,086,609 106,291
d P25 ] o 2| 323% 4 3,264,192 3,618,110 353,918
o =) =l 3 2| 450% A 4,547,637 5,040,711 493,074
o ®H e gr 2| 851% 4 277,782 307,901 30,119
g & 3 H £ Bl  230% 4] 2,324,347 2,576,363 252,016
AY7| Aot S X2 LEM LS Y 0.18% 4 484,532 510,286 25,754
& H 2t 2l Hl| 1.85% 4 4,886,625 5,508,142 621,517
g Z L] il H| 030% 4| 807,552 850,478 42,926
7] E}f 4 Bl 7.80% Al 19,120,666 20,357,714 1,237,049
HESlEE2UHSRNSES 2| 0081% 4 218,039 229,629 11,590
= s At Hl| 0.00% 321,943,398 341,144,175 19,200,777
B ) o Gl i 6.00% A 19,316,603 20,468,650 1,152,047
0l 2| 1495% 4 31,194,546 33,568,995 2,374,449
3 = 7t Al 0.00% 372,454,546 395,181,819 22,727,273
5 7} 7t x| M| 10.00% 37,245,455 39,518,181 2,272,726
] = o 409,700,000 434,700,000 25,000,000
s = K} H: c 4 83,888,000 82,054,000 -1,834,000
£ = At H| 4 493,588,000 516,754,000 23,166,000




o = H - =
3 35 + 3 9l H 3
+ o 7t = 9 - o 7t = %4 - o 7t = 9
1.E 3 A 1 -| 16,369,225 1 -| 15,577,609 - -791,616
1.1, E2HH 2 0 - 444,567 - 444,567 - -
a. gIHH 2 m' 319 520 165,880 | 319 520 165,880 0 - -
b.g 5§ m* 319 743 237017 | 319 743 237,017 0 - -
c YSupay 93.25kW m' 1 41,670 41,670 1 41,670 41,670 0 - -
12 HgED=27| - 1,044,795 - 1,044,795 - -
a BEEIZE7| E A m' 70 2,200 154,000 | 70 2,200 154,000 0 - -
b. EEHIZ27| 2lE3ey m' 163 5,465 890,795 | 163 5,465 890,795 0 - -
13. 8% 7 - 7,912,786 - 7,912,786 ~ -
as%d7 E M m 221 1,245 275,145 | 221 1,245 275,145 0 - -
b. & 2 7| 2|2 m' 517 14,773 7,637,641 | 517 14,773 7,637,641 0 - -
144 E - 6,967,077 0 - 6,175,461 - -791,616
a A E E AL L=5km m 503 5,208 2,619,624 | 351 5,208 1,828,008 | -152 . -791,616
b.AA E 2|82, L=5km m 517 8,409 4,347,453 | 517 8,409 4,347,453 0 - -
15. & % 7| H|CHE m' 0 1,111 0 1,111 . 0 - -
2.8 = 3 0 4 1 - 11,601,826 1 - 8,953,244 0 - -2,648,582
21.E 2 0 0 0 - 2,247,542 0 - 561,141 0 . -1,686,401
a. TESEHIZ|(EAD 71 41100% m’ 980 1,358 1,330,840 | 272 1,358 369,376 | -708 - -961,464
b. =07 71 #|100% m' 763 739 563,857 | 164 739 121,196 | -599 - -442 661
c. BefjFE 0 m' 45 7,841 352,845 9 7,841 70,569 | -36 - -282,276
22. =23 0 0 0 - 2,018,352 0 - 2,797,032 0 : 778,680
a. 229 300mmLi 2| m' 48 42,049 2018352 | 60 42,049 2,522,940 12 - 504,588
a. TEHAER 400400 m 0 - - 28 9,789 274,092 | 28 9,789 274,092
23. 2583 0 0 0 - 599,706 0 - 231,821 0 . -367,885




s 3 7+ 3 e g - o £ ° s Hj 2
=& o 7} = 9 =& o 7t = 9 =g e 7} = 9
a. PE 2 24 2 HE |D90 m 206 2,169 446,814 | 45 2,169 97,605 | -161 -349,209
b. M= 24 S I D90 ea 1 40,871 40,871 1 40,871 40,871 0 -
c N=2ees8 845 |0 0 0 - 88,125 0 - 88,125 0 -
c-1. 22| EEHE(RD) (U 2ELEZ2-viBl 1 39,085 39,085 1 39,085 39,085 0 -
c2HEE FEEES) m 2 24,520 49,040 2 24,520 49,040 0 -
d Z#E2Z0H0|Z d5g M 206 116 23896 | 45 116 5220 | -161 -18,676
24. =23 0 0 0 178,392 0 - - 0 -178,392
a =T AR L(mEZ| oS4 2,0600MNM m 24 7433 178,392 0 7,433 -| -24 -178,392
25. =+=83S 0 0 0 - 6,440,347 0 - 5,363,250 0 -1,077,097
a 232|EErY 0 0 0 = 135,164 0 - 77,418 0 -57,746
a-1. 232 EEML(FHHIAMEE L F2-VIB.EY 5 19,407 97,035 3 19,407 58,221 -2 -38,814
a-2. =oC| EEHE (FHIAHEEE R 2-VIBAHZ 1 19,197 19,197 1 19,197 19,197 0 -
S SE2EES) m* 40 24,520 980,800 | 22 24,520 539440 [ -18 -441,360
c. dgjolg 0 0 0 5,307,991 0 - 4,730,000 0 -577,991
c-1. 2820/ E 1400%1400% 75 EA 1 577,991 577,991 0 577,991 - = -577,991
c-2. sTs1z ol g 3200x1700x75 EA 1 4,730,000 4,730,000 1 4,730,000 4,730,000 0 -
d E27ts=gE) HE ton | 0.023 712,722 16,392 | 0.023 712,722 16,392 0 -
26.H Y J 0 0 0 117,487 0 - - 0 -117,487
a. 32| EEME(EHIALS 5 EH| F2-VIB.EY w 1 19,407 19,407 0 19,407 = -1 -19,407
b.AF % FEEES m 4 24,520 98,080 0 24,520 - -4 -98,080
3.7 =2 8 3 Y 1 - | 151,117,654 1 -| 165,681,313 14,563,659
3L.E 2 77,526 - 77,526 -
a. TESHIZ|[(EAD 7| A1100% m' 56 1,358 76,048 | 56 1,358 76,048 0 .
b. /07| 7141100% m’ ", 739 1,478 2 739 1,478 0 -




g S o bz = | oz
3 B 7 3 |=9 HEs
+ & € 7t = 9 = o 7t = 94 + ¥ gk 7t = 9
33. 48 EX A 0 0 0 -| 151040128 | O - | 165,603,787 0 . 14,563,659
a. 23e2|EEHH 25-210-8 m' 44 19,407 853,908 | 57 19,407 1,106,199 | 13 - 252,291
b. E27I3ZE(EHE) bt ton | 2277 633,339 1442112 | 251 633,339 1,589,680 | 0.233 - 147,568
c. AFEHAER 0 m’ 93 24,520 2,280,360 | 78 24,520 1,912,560 | -15 - -367,800
1. 4F+=Z= HEEUAX |0 4 0 3,556,750 - 1 3,556,750 3,556,750 1 - 3,556,750
d. 7| & m 312 324983 | 101,394,775 | 312 324,983 | 101,394,775 0 - -
d. ¢HEE 7| 4 m' 312 324983 | 101,394775| 312 324,983 | 101,394,775 0 - -
e. A|HE 0 m' 91 59,744 543669 | 128 15,569 1,992,834 | 37 -44,175 -3,443,862
f HaEY 0 m 82 104,518 8,570,513 | 117 104,518 12,228,659 | 35 - 3,658,146
g. Soil Nailing® L =6M 2 82 378,802 31,061,764 | 82 378,802 31,061,764 0 - -
h. ZE4E7] 4565 = 0 - -| 62 172,775 10,760,566 | 62 172,775 10,760,566
4.8 o J 4 1 - 37,393,554 1 - 37,393,554 0 - -
41. 4 H = TEAH 0 0 - 31,398,104 0 - 31,398,104 0 - -
ae. TEAIE M= H| 0 0 0 - 29,867,795 0 - 29,867,795 0 - -
ae-1.STS FLANGE 50A EA 14 17,888 250432 | 14 17,888 250,432 0 - -
ae-2. STS FLANGE 100A EA 2 30,186 60,372 2 30,186 60,372 0 - -
ae-3. STS FLANGE 250A EA 6 73,229 439,374 6 73,229 439,374 0 - -
ae-4. STS BOLT/NUT M16x75 EA | 151 937 141,487 | 151 937 141,487 0 - -
ae-5. PACKING 50A EA 14 860 12040 | 14 860 12,040 0 - -
ae-6. PACKING 100A EA 2 1,204 2,408 2 1,204 2,408 0 - .
ae-7. PACKING 250A EA 6 2,150 12,900 6 2,150 12,900 0 - -
ae-8. STS ELBOW 10A EA 50 1,754 87,700 | 50 1,754 87,700 0 - -
ae-9. STS ELBOW S0A EA 16 5,065 81,040 | 16 5,065 81,040 0 - -




g = H 3 3 u
z 3 # 04 |e2d 2
+ g 7t =9 = gt 7t = 9 s ct 7t = 9
ae-10.STS ELBOW 100A EA 5 16,830 84,150 5 16,830 84,150 0
ae-11.STS ELBOW 250A EA 2 150,706 301,412 2 150,706 301,412 0
ae-12.STS TEE 50A EA 1 9,124 9,124 1 9,124 9,124 0
ae-13.STS TEE 100A EA 1 25,602 25,602 1 25,602 25,602 0
ae-14.STS TEE 250A EA 1 193,414 193,414 1 193,414 193,414 0
ae-15.STS CAP 50A EA 2 3,526 7,052 2 3,526 7,052 0
ae-16.STS CAP 250A EA 2 62,719 125,438 2 62,719 125,438 0
ae-17.STS NIPPLE 10A EA 50 1,677 83,850 | 50 1,677 83,850 0
ae-18.BY PASS BOX S0A SET 1 2,150,000 2,150,000 1 2,150,000 2,150,000 0
ae-19.57ZAE HOEA |0 SET 1 17,200,000 17,200,000 1 17,200,000 17,200,000 0
ae-20.5+Z A1 H7|ZAL |Hf2HiH 4 1 8,600,000 8,600,000 1 8,600,000 8,600,000 0
af FAMH|  (HE2H|Q) |xH=H[Q 4 2% | 64,895,815 1,297,916 | 2% | 64,895815 1,297,916 | 0%
agB3TER (=RHO) [=FHQ | 2% | 11,619,675 232393 | 2% | 11,619,675 232393 | 0%
42. M ™ 2 0 0 0 - 427,600 0 - 427,600 0
a. WEATY 0 0 0 277,800 0 - 277,800 0
a-l. &2 L4 &8 A R=12em| F 3 79,635 238,905 3 79,635 238,905 0
b. 24T 0 0 0 : 149,800 0 - 149,800 0
b-1. 8 & 5 A H=0.4m &= 70 1,840 128800 | 70 1,840 128,800 0
4.3, AHAf 24y 0 0 0 - 5,138,947 0 - 5,138,947 0
a. A E 24td| 0 CH 3 401 1,203 3 401 1,203 0
b. ZX &t 0 0 0 - 4,874,772 0 . 4,874,772 0
b-1. 2224t (E=Z151) m' 46 14,324 658,904 | 46 14,324 658,904 0
b-2. EX7| &4t ZESME=15 m | 358 11,586 4,147,788 | 358 11,586 4,147,788 0
b-3. HEAM 24t (HZ15t) m’ 5 13,616 68,080 5 13,616 68,080 0




=3 = < 23 5 ., Zt
z2 3 #F 3 (=4 L
=¥ o 7t 2 9 S i £ 7t 2 9 + & o 7t = 9
c B 0 ton | 2.368 18,916 44,793 | 2.368 18,916 44,793 0 - -
d. Z {24t 0 ton 0 18,916 - 0 18,916 - 0 - -
e. 37| 2%H| LS 7| A 1 218,179 218,179 1 218,179 218,179 0 - -
44 7t2U=2 0 0 0 . 488,798 0 - 488,798 0 - -
a /HEEL 2HO|H(3.0x6.0)[ A 1 488,798 488,798 1 488,798 488,798 0 - -
5. A2 XF A CH 4 1 - 52,702,198 1 - 55,887,034 0 - 3,184,836
51.A M E 40kg/CH oH 3 4,300 12,900 5 4,300 21,500 2 - 8,600
52. = X Ch 0 0 0 - 4,801,552 0 - 4,327,348 0 - -474,204
al ¢ 0 m 47 15,480 727,560 e 15,480 139,320 | -38 - -588,240
b. EX7|EM 40mm 0|5} m 358 11,180 4,002,440 [ 365 11,180 4,080,700 7 - 78,260
oM E A MEE m 4 17,888 71,552 6 17,888 107,328 2 - 35,776
5.3. &% A 0 0 0 - 503,874 0 - 503874 | 0 - -
a M= PE/ D90 EA 1 189,200 189,200 1 189,200 189,200 0 - -
b. N+ EEEDE 12 EA 1 314,674 314,674 1 314,674 314,674 0 - -
547" Z 50x50x6T ton 0 645,000 - 0 645,000 - 0 - -
55. %4 % 0 0 0 - 3,076,650 0 - 3,076,650 0 - -
asLU®F H3.0xW1.5xR12 | EA 3 860,000 2,580,000 3 860,000 2,580,000 0 - -
b.2l ¥ & HO.4xW0.5 EA 77 6,450 496,650 | 77 6,450 496,650 0 - -
56. 4 4 1.5m~3.0m ton | 681 65,062 44,307,222 | 681 65,062 44,307,222 0 - -
57. 24N 4562 ton 0 65,062 -| 64 43,375 2,776,000 | 64 -21,687 2,776,000
58 23 400*400 = 0 62,460 -| 14 62,460 874,440 | 14 - 874,440
6. 2t = AH X CH 0 Al 1 - 83,888,000 1 - 82,054,000 0 - -1,834,000
6.1.8f 0] & 0 0 0 - 4,557,000 0 - 5,467,000 0 - 910,000
a2 o& 25-18-80 m' 12 74,760 897,120 | 16 74,760 1,196,160 4 - 299,040




=4 = H 3 z
7+ 7 o 2
+ & = = 9 =& c 7t =2 94 = 9

25-21-80 6 78,090 468,540 | 54 78,090 4,216,860 3,748,320

0 0.54 - 25380 | 054 . 53,980 0 28,600

0 0 - 1,651,000 0 - 1,665,000 0 14,000

SD300, D10mm 0 706,750 - 0 706,750 - 0 -

SD300, D13mm 1.9 696,300 1,322,970 | 1.900 696,300 1,322,970 0 -

SD300, D16mm 0.445 680,880 302,991 | 0.445 696,300 309,853 0 6,862

SD300, D29mm 0.023 691,070 15,894 | 0.023 691,070 15,894 0 -

0.54% 4 1 . 9,145 1 . 16,283 0 7,138

0 0 0 - 1,471,000 0 - - 0 -1,471,000

D600x1.6mm, 1R{ M 25 55,640 1,391,000 0 55,640 -1 -25 -1,391,000

D600mm, HEEY E 4 17.870 71,480 0 17,870 - -4 -71,480

0 % | 054 - 8,520 | 0.54 - - -8,520

6.4. PEFE3 0.00% 0 0 . 1,649,000 0 - 362,000 -1,287,000
PE/ D90(75) M 206 7,960 1,639,760 | 45 7,960 358,200 -1,281,560

0.54% A 1 . 9,240 1 - 3,800 -5,440

5. +ZHO Ol H 0.00% 0 0 - 74,560,000 0 - 74,560,000 -
TEEHD 1 74,560,000 74,560,000 1 74,560,000 74,560,000 -




W SAE : G SHIE ASFRE =ESA
s 5 73 = g =4 2| = 2| Moz oH z |
& - . i 16,369,225 | 8,297,719 3,100,980 4,970,526
- . h 15,577,609 7,877,287 2,936,212 4,764,110
11,6018 4,969,17( 5922,1 710,556
> a4 2 ; " 26 | 0 2,100
. e - 8,953,244 | 3,532,649 5,025,544 395,051
151,117,654 87,432,307 20, 24,164,392
3.7 = £ 2 1 A B 0 39520955
e . 165,681,313 100,246,462 41,039,756 24,395,095
4.8 rf 2 1 Al 37,393,554 | 359,407 31,210,175 5,823,972
) - 1 37393554 359407 31,210,175 5,823,972
5. At = Kt i o 3 Al 52,702,198 52,702,198
) e ——— I T 55,887,034 | 55,887,034
% A 269,184,457 101,058,603 132,456,408 35,669,446
N DU . 1 283492754  112,015805 136,098,721 35,378,228
H_H;._Hum_l_u_ x umum._ﬁ m ,: %
6 7t x i e i © %iE08 \ A 11,621,739 _ 18 (115%)
. - o - 112,881,817 m_ﬁl,nm__.m_ Eﬁk.ﬂm_mn:mgw
4225512 . = 2 H| x ATRELE (375%) o
7.4 ™M o208 B 375% 1 A e | 2 (
S T m | 4683661 1 = 7 Hl x UNEHAE (375%)
L = | m x N8 4
8 1 2 o 5 a 0.87% 4 Al omow._mm | x N8EHES (087%)
o - ) . = 1,086,609 L - k@ﬁﬁmmﬁomﬁf
9.7 z ] = 2 3.23% 1 4 3264102 HTRH « UYLUAE (323%)
I T . 3618110 AEL=FH| x WTMﬂmmﬁwmwﬁu
4 O NELSH < HBEHOS (45%)
0.9 = o o = —_ : A 547,637 2H £ (45%)
) - - 5040711  HB=FH x mwm&hmm?mf
742t ow o - i
- - - 307,901 mwﬁiw x QYEEB S ( 851%)
L DY = = o
p W_ uﬂ WI H.M_ |J_} hn.u. I_ 2.30% 1 E NWNA. w.uﬂ = .u.w_qu mHI__UH.__ mm ( 2.3% v
- A 2,576,363 - HBERH EASHFSE (23%)
! Hw_n_ HH._urhumuum HH._H.I % =)\ Hane } n..a .
13 ASI GOSN SRS LSS = . N 484532 (M |+ & | + HEZAH|) x ESMET28(0.18%)
510,286  (M=2H| + HEL-2H| + ZFYFH|) x ESMLE28(0.18% )




m SAHE : CRALS SHE ASFE ZESA

iy 5 T 4 = g b A : L £ H A 2 4 H
_ 4886625 | (FH=H| + HTw=FH|) x HHB2|HIS (1.85% )x 12
14 . ot = 2 2 H 1.85% 1 Al
5,508,142 (=8| + H_mw,ﬂm: x QHEP2|H| & ( 1.85% )x 1.2
T T T T gorss2 - (M« HELSH| + NHZH) « BFHEIE (03%)
* 3o o 1A
e B = T 850478 (28| + AW=2H| + NYZY)) x BYLHH|E (03%)
g -ml ||a IIE WOM _ __..._-.w_.l__||ﬂ@|.so~mmm (2| + =2H|) x 7|EFHH|S (7.8%)
16. 80%
. J 20357,714  (WRH| + =) x 7|EIZHIS (78%) -
e = e R R T 218039 (EH| + MNELSH + MBZH) x +428 (0081%)
HMSEIIXZTRSS42 00819 4 Al |
s S L W 229629 | (M=H| + SB=FH| + HFFH) x $228 (0081%)
- 321,943,398
= = At H
_ 3Madaarsc )
G W o . W E o A N 10316603 &2AH| x LLHE2|H|S (6% )
. - B . _ 20,468,650  wEAH x YLHRAIHIZ (6%) -
S.éﬁmam (Z=SAH| + Lt E_ M =2H|) x O|@H|2 ( 14.952519% )
19. 0f 2 1495% : A |
33,568,995 (=2AHH| + YLEE|H| - T2 H]) x oTn..._u__M ( Emmmmamw«i
372,454,546 |
= = 7t o
. o — 395181819 - i
- 37045455 , 2271 x £IIHXIHIE (10%)
. ‘ 39518181 | BB x FIRME (10%)
409,700,000 |
= - o
) S ) 434700000
83,888,000
21 . & = At T o | 1 Al
_ 82054000
493,588, 000
5 3 At gl T4

51 m.wma_ooo :




@ AP : CIALY SHZE AZEE ZHITA}
T = a £ = Of At E = =1 —
S— HEC20 x A9- 202 (115 %)
Zt (=
il 7t E = 4| 11.50 % . 101,058,603 ) 1150%
N i ot 112015805  x 1150% ) o )
4395613 L B H| x kH__Wﬂmu;wwmf
Ab
< HA=wE 5% T 112,680,349 «x 3.75%
- - | 124897629 x  375% - -
980,319 b 2 H x I2EYHAE (087 m“.u
= AEFLAE 087% S 112,680,349  x 0.87%
o I Wy g I !@@mw@ ox . b&%k - |
daEsees ML DH x AZSHSHZ (323 %)
Huagsdg :
4 g 5% A 101,058603  x 323%
B - SEUTL O 112015805 xl! mm*. o -
4547 637 HNHC-PH x Q2EESHE (45%)
da3EEE ;
3. E 450% n— 101,058,603  x 4.50%
- N - - E.EG%MIH 4.50% - B
—— T IS E « LOIE|aYEERHS (851%)
ORI R .
6. ! as BT 307901 3,264,192 «x 8.51%
I o 3618710 x  851% - - o
2555 003 MO x EAZHE2H[E (23%)
pr.d e By v = e B
7. ERSHTSH 0% — 101,058,603  x 2.30%
B NN S 12015805 x  230% E—
i (2 + Ao + AHAH) x ESMYZ RS (018%)
. M| A2 2 ESA i ; )
8 1A o= Al 1233 0A8'% S ( 132,456,408  + 101,058,603 + 35,669,446 )% 0.18%
. U | Sy ) (136098721 + 112015805 + 35378228  )x 018% |
1.85 % - [E&]
9 of M 2 2| b ) 4,886,625 @@ + o) x AHEBIHS (185%) 12 )
w5 — ( 132456408  + 101,058,603 )x 1.85% *1.2
S - _§ = ( 136098721+ 112,015,805 )x 1.85% 2 -
807553 (H2H| + HE=DH| + EEZAH|) x SHEEHH[E (03 %)
A HY ;
19 gzenH ia0% — ( 132,456,408  + 101,058,603 + 35,669,446 )x  0.30%
. ( 136,098,721  + 112,015,805 + 35,378,228 )= 0.30%




W SAE : CALE ZHE USEE ZE3A

+ =2 2 g 5 9 Ab s = A |
H SH[y x 7|EFZH|S (7.
19,120,666 (AH2H| + =2H|) x 7|EtHH[S (78 %)
7] E} 4 H
L | & 2 RRO% e ( 132,456,408 + 112,680,349 )x 7.80%
S ( 136098721  + 124897629 )x __1.80% :
218,039 (M2 + EFCLH + M4EZH]) x AL =5X[S2 (0081%)
.Lur.r e [ IH_.M.H_. W>EU.\).\( .
12. A= SO XS EFML S TR 0.081 % — 260184457 x 0.08%
) N S .. 283492754 x  008% : I
EIFH DALY P
321043308 | TASAHE + (1 ~12)
& 3 A 4
341,144,175
R e e . e _
19316603 | £ fo| x Ydtaa|H] 2(6.0%)
ol HF 33| H
1 e 800 % SoRED 321,943,398 «x 6.00%
R iaaieis 19 341,144,175 % 6.00%
(DA + 2IEiR2|H| - A 2H]) = 15. a - .
siibisi | EENEL 4 ojubaa|H| - X|ZH]) x 15.00%
O [ =]
14 ! »: WanA o ( 321,943,398 -+ 19,316,603 - 132,456,408 1%

( 341,144,175+ 20,468,650 - 136,098,721 )%




Ll 2| M =H| Zy
3358 3 = | 24 H| 3
Ct7t = =74 =% k7t =9 ck7t =%
- » 1 4 16,369,225 8,297,719 3,100,980 4,970,526
._- 1 R
“ 1 Al 15,577,609 7,877,287 2,936,212 4,764,110
444,567 385,227 32,599 26,741
1.1, EIhN 2
444,567 385,227 32,599 26,741
319 | m 520 165,880 520 165,880 s - - -
a. A2
319 | 520 165,880 520 165,880 - . - =
319 | m 743 237,017 626 199,694 69 22,01 48 15,312
b &
319 | o 743 237,017 626 199,694 69 22,011 48 15,312
- 1 m 41,670 41,670 19,653 19,653 10,588 10,588 11,429 11,429
c. Sk 93.25kW
1 m 41,670 41,670 19,653 19,653 10,588 10,588 11,429 11,429
1,044,795 735,006 124,243 185,546
1.2, HEHIZT|
1,044,795 735,006 124,243 185,546
70 m 2,200 154,000 1,577 110,390 259 18,130 364 25,480
a, 2EEHIET| E A
70 m’ 2,200 154,000 1,577 110,390 259 18,130 364 25,480
163 | m 5,465 890,795 3,832 624,616 651 106,113 ag2 160,066
b. EEHIZ7T| 2| get
163 | w 5,465 890,795 3,832 624,616 651 106,113 982 160,066
7,912,786 3,623,577 1,323,526 2,965,683
13. 8 & 7|
7,912,786 3,623,577 1,323,526 2,965,683
221 | m 1,245 275,145 650 143,650 248 54,808 347 76,687
a g% E A
221 | m 1,245 275,145 650 143,650 248 54,808 347 76,687
_ 517 | m 14,773 7,637,641 6,731 | 3,479,927 2454 | 1,268,718 5588 | 2,888.996
b. E 2 7| iRy
57 | m 14,773 7,637,641 6,731 | 3,479,927 2454 | 1,268,718 5588 | 2,888,996
6,967,077 3,553,909 1,620,612 1,792,556
14 A E
6,175,461 3,133,477 1,455,844 1,586,140
503 | m 5,208 2,619,624 2,766 | 1,391,298 1,084 545,252 1,358 683,074
a A E EAf L=5km
351 | m 5,208 1,828,008 2,766 970,866 1,084 380,484 1,358 476,658
B 517 | m' 8,409 4,347,453 4183 | 2162611 2,080 | 1,075,360 2146 | 1,109,482
h. A E 2] 22 L=5km
517 | m 8,409 4,347,453 4,183 | 2,162,611 2,080 | 1,075,360 2,146 | 1,109,482




| L2H| =z H| ZH
359 4 A i H| 3
= =l 74 =49 k7t =9 Et7} =9
0 m' 1,111 = 580 221 : 310 .
15. % 7| H|Cp&
0 ' 1,111 - 580 . 221 . 310 -
W~ 1 4 11,601,826 4,969,170 5,922,100 710,556
2. = 3
- 1 A 8,953,244 3,532,649 5,025,544 395,051
2,247,542 1,342,183 376,761 528,598
21.E =
561,141 326,721 97,548 136,872
B 980 | m 1,358 1,330,840 709 694,820 270 264,600 379 371,420
a. TZEEIV|(EAY 7| H100%
272 | mw 1,358 369,376 709 192,848 270 73,440 379 103,088
763 | m 739 563,857 386 294,518 147 112,161 206 157,178
b. 027 7| 71100%
164 | o 739 121,196 386 63,304 147 24,108 206 33,784
45 m' 7.841 352,845 7,841 352,845 - - - =
c. 2o
9 m 7,841 70,569 7,841 70,569 5 - = -
2,018,352 1,795,104 53,888 159,360
22 HiE2E
2,797,032 2,446,572 102,288 248,172
48 m' 42,049 2,018,352 37398 | 1,795,104 1,331 63,888 3,320 159,360
a =24 300mmLy 2|
60 m’ 42,049 2,522,940 37,398 | 2,243,880 1,331 79,860 3,320 199,200
0 m - - . . . - - .
a FEIAK 400*400
28 m 9,789 274,092 7,239 202,692 801 22,428 1,749 48,972
500,706 563,068 33,264 3,374
23 go=
231,821 213,054 15,393 3,374
206 | m 2,169 446,814 2,169 446,814 - = 2 =
a. PEs= 2 54 2 H3 D90
45 m 2,169 97,605 2,169 97,605 - - - -
1 ea 40,871 40,871 34,543 34,543 2,954 2,954 3,374 3,374
b. M2E £4 21 3 D90
] ea 40,871 40,871 34,543 34,543 2,954 2,954 3,374 3,374
88,125 80,681 7,444 _
c HdegsE M|
88,125 80,681 7,444 =
1 m 39,085 39,085 38,319 38,319 766 766 -
c-1. 22| EEHE (R D) (YEHEBLFE2-VIB
1 m' 39,085 39,085 38,319 38,319 766 766 S




A 24| x =H| 4
=9 4 2| g H| D
ol =9 ch7t =9 ct7} =9 Ct7} ool
B 2 m 24,520 49,040 21,181 42,362 3,339 6,678 .
c2HFEE FEEES)
2 m 24,520 49,040 21,181 42,362 3,339 6,678 -
206 | M 116 23,896 5 1,030 111 22,866 e
d 2zZIEo|= H+8
45 | M 116 5,220 5 225 111 4,995 a
178,392 165,120 7,296 5,976
24, Hi=22
N N " 24 | m 7,433 178,392 6,880 165,120 304 7,296 249 5,976
a. His=2HE el e A (T Z oh 2 2 0600MM
0 m 7,433 £ 6,880 = 304 . 249 -
6,440,347 1,002,907 5,425,856 11,584
25 Y+8S
5,363,250 546,302 4,810,315 6,633
135,164 112,080 11,500 11,584
a. 232|EEtd
77,418 64,256 6,529 6,633
5 m 19,407 97,035 16,064 80,320 1,679 8.395 1,664 8,320
a-1, 232 EEMM (FH| AR B[ £ 2-VIB.EE
3 m' 19,407 58,221 16,064 48,192 1,679 5,037 1,664 4,992
1 m’ 19,197 19,197 16,064 16,064 1,492 1,492 1,641 1,641
a-2. 23 2| EEH(FH|ALEEH| 2 2-VIB.H 2]
1 m' 19,197 19,197 16,064 16,064 1,492 1,492 1,641 1,641
- 40 | w 24,520 980,800 21,181 847,240 3,339 133,560 <
b.HF & LREEE)
22 | m 24,520 539,440 21,181 465,982 3,339 73,458 a
5,307,991 27,523 5,280,468 -
c. 28 0]El
4,730,000 - 4,730,000 3
1 EA 577,991 577,991 27,523 27,523 550,468 550,468 <
c-1. 28d 0|8 1400% 1400x75
0 EA 577,991 = 27,523 : 550,468 = :
1 EA | 4,730,000 4,730,000 . . 4,730,000 | 4,730,000 -
c-2. STSz{ 0l 3200% 170075
1 EA | 4,730,000 4,730,000 - = 4,730,000 | 4,730,000 =
o BB TR i 0023| ton 712,722 16,392 698,453 16,064 14,269 328 -
0.023] ton 712,722 16,392 698,453 16,064 14,269 328 .
117,487 100,788 15,035 1,664
26. 09 2




24 L 2| M=o 2|
29 4 2k | o9 H| 2
= =4 Szt =% k7t =9 EH7t =
A g m 19,407 19,407 16,064 16,064 1,679 1,679 1,664 1,664
a =32 EEH(F AL, §E | R 2-VIB.EE
0 m 19,407 - 16,064 = 1,679 & 1,664 =
4 m 24,520 98,080 21,181 84,724 3,339 13,356 =
b.HEFHE RFEEES)
0 m 24,520 . 21,181 s 3,339 - -
i & 1 A 151,117,654 87,432,307 39,520,955 24,164,392
) = 1 Al 165,681,313 100,246,462 41,039,756 24,395,095
77,526 40,476 15,414 21,636
3. =
77,526 40,476 15,414 21,636
N 56 m' 1,358 76,048 709 39,704 270 15,120 379 21,224
a. TESHIP|(EAD 71 #1100%
56 m' 1,358 76,048 709 39,704 270 15,120 379 21,224
2 m 739 1,478 386 772 147 294 206 412
b. £/ 27| 7| 71100%
g m 739 1,478 386 772 147 294 206 412
B 151,040,128 87,391,831 39,505,541 24,142,756
33 MY EX FZA}
165,603,787 100,205,986 41,024,342 24,373,459
44 m' 19,407 853,908 16,064 706,816 1,679 73,876 1,664 73,216
a. 232 EErd 25-210-8
57 m' 19,407 1,106,199 16,064 915,648 1,679 95,703 1,664 94,848
2.277{ ton 633,339 1,442,112 621,929 | 1,416,132 11,410 25,980 E
b. 273X E(EHE) ZHE
2510| ton 633,339 1,589,680 621,929 | 1,561,041 11,410 28639 -
a3 m 24,520 2,280,360 21,181 | 1,969,833 3,339 310,527 =
c AEEAA
78 m 24,520 1,912,560 21,181 | 1,652,118 3,339 260,442 <
0 Al 3,556,750 - 3,556,750 -
c-1. 5= HEULR
1 Al 3,556,750 3,556,750 - -| 3,556,750 | 3,556,750 Ak
312 | m 324,983 | 101,394,775 187,009 | 58,346,922 93,799 | 29,265,283 44175 | 13,782,570
d. AEA7| Y
312 | m 324,983 | 101,394,775 187,009 | 58,346,922 93,799 | 29,265,283 44,175 | 13,782,570
91 m 59,744 5,436,696 15,116 | 1,375,573 453 41,207 44175 | 4,019,916
e. A|HER=
128 | m 15,569 1,992,834 15,116 | 1,934,872 453 57,962 - -
e 82 m 104,518 8,570,513 73,250 | 6,006,497 30,536 | 2,503,952 732 60,064
e = |
30mm 117 | m 104,518 12,228,659 73,250 | 8,570,245 30,536 | 3,572,712 732 85,702




A ]| X = H| ZH
=52 o =g | o H| 1
&7} 2y &7} 29 &7} 29 £} 29
82 = 378,802 31,061,764 214,269 | 17,570,058 88,838 7,284,716 75,695 6,206,990
g. Soil NailingZ& L =6M
82 = 378,802 31,061,764 214,269 | 17,570,058 88,838 7,284,716 75,695 6,206,990
= ) 2 5
h. ZZA%7| 4262 N
62 = 172,775 10,760,566 155,025 9,655,082 7,368 458,885 10,382 646,599 T
T 1 4 37,393,554 359,407 31,210,175 5,823,972
4. 3
1 4 37,393,554 359,407 31,210,175 5,823,972
31,398,104 - 31,165,711 232,393
41. 2 H 3 TAAME
31,398,104 - 31,165,711 232,393
29,867,795 29,867,795
ae. A AME TEH|
29,867,795 29,867,795
14 EA 17,888 250,432 - 17,888 250,432 -
ae-1.STS FLANGE 50A
14 EA 17,888 250,432 - 17,888 250,432 -
2 EA 30,186 60,372 - 30,186 60,372 -
ae-2. STS FLANGE 100A
2 EA 30,186 60,372 - 30,186 60,372 -
6 EA 73,229 439,374 - 73,229 439,374 -
ae-3. STS FLANGE 250A
6 EA 73,229 439,374 - 73,229 439,374 -
151 EA 937 141,487 - 937 141,487 -
ae-4. STS BOLT/NUT M16x75
151 EA 937 141,487 - 937 141,487 -
14 EA 860 12,040 - 860 12,040 -
ae-5. PACKING S50A
14 EA 860 12,040 - 860 12,040 -
2 EA 1,204 2408 - 1,204 2408 -
ae-6. PACKING 100A
2 EA 1,204 2,408 - 1,204 2,408 -
6 EA 2,150 12,900 - 2,150 12,900 -
ae-7. PACKING 250A
6 EA 2,150 12,900 - 2,150 12,900 -
50 EA 1,754 87,700 - 1,754 87,700 -
ae-8. STS ELBOW 10A
50 EA 1,754 87,700 - 1,754 87,700 -
16 EA 5,065 81,040 - 5,065 81,040 S
ae-9. STS ELBOW 50A
16 EA 5,065 81,040 - 5,065 81,040 -




S| M=ZH] Zd
253 +4 2| o9 H|D
Er7t =9 CE7b =9 o7t =9 = =9
5 EA 16,830 84,150 16,830 84,150 -
ae-10.5TS ELBOW 100A
5 EA 16,830 84,150 16,830 84,150 -
2 EA 150,706 301,412 150,706 301,412 -
ae-11.STS ELBOW 250A
2 EA 150,706 301,412 150,706 301,412 -
1 EA 9,124 9,124 9,124 9124 -
ae-12.5TS TEE 50A
1 EA 9,124 9,124 9,124 9,124 -
1 EA 25,602 25,602 25,602 25,602 -
ae-13.5TS TEE 100A
1 EA 25,602 25,602 25,602 25,602 -
1 EA 193,414 193,414 193,414 193,414 -
ae-14.5TS TEE 250A
1 EA 193,414 193,414 193,414 193,414 -
2 EA 3,526 7,052 3,526 7,052 -
ae-15.5TS CAP 50A
2 EA 3,526 7,052 3,526 7,052 -
& EA 62,719 125,438 62,719 125,438 -
ae-16.5TS CAP 250A
2 EA 62,719 125,438 62,719 125,438 -
50 EA 1,677 83,850 1,677 83,850 -
ae-17.STS NIPPLE 10A
50 EA 1,677 83,850 1,677 83,850 -
1 SET 2,150,000 2,150,000 2,150,000 2,150,000 -
ae-18.BY PASS BOX S50A
1 SET 2,150,000 2,150,000 2,150,000 2,150,000 -
1 SET | 17,200,000 17,200,000 17,200,000 | 17,200,000 -
ae-19.+=Z A4 HOHE
1 SET | 17,200,000 17,200,000 17,200,000 | 17,200,000 -
1 4 8,600,000 8,600,000 8,600,000 8,600,000 -
ae-20. 72 A E FI7|SAL [HiaEM
1 A 8,600,000 8,600,000 8,600,000 8,600,000 -
2% =} 64,895,815 1,297,916 64,895,815 1,297,916 -
af A E| (=ZE|el)y |[MEH|ef
2% 4 64,895,815 1,297,916 64,895,815 1,297,916 -
i 2% af 11,619,675 232,393 - 11,619,675 232,393
ag. aTEE  (LFH[Q) |=Fulg
2% 4 11,619,675 232,393 - 11,619,675 232,393
427,600 324,847 27,234 15,624
42. MM 5
427,600 324,847 27,234 15,624




A L2 L Z|
=59 3 2k | o H| 2
o7} =Y k7t =Y = =29 C7t =9
277,800 196,047 27,234 15,624
a. WA
277,800 196,047 27,234 15,624
3 = 79,635 238,905 65,349 196,047 9,078 27,234 5,208 15,624
a-1. 2 U8 2 ZEZ R=12cm
3 - 79,635 238,905 65,349 196,047 9,078 27,234 5,208 15,624
149,800 128,800 :
b. 2HE A XY
149,800 128,800 - -
70 B 1,840 128,800 1,840 128,800 - - - -
b-1. 38 & & =4 H=04m
70 = 1,840 128,800 1,840 128,800 - - - -
5,138,947 34,560 17,230 5,087,157
43, RHAf-24hy|
5,138,947 34,560 17,230 5,087,157
] = 5
o AlBIE S| 3 i 40 1,203 401 1,203
3 ch 401 1,203 - - 401 1,203
4,874,772 34,560 17,230 4822982
b. =&t
4874772 34,560 17,230 4,822,982
46 m' 14,324 658,904 . . 14,324 658,904
b-1. 2228t (=151
46 m' 14,324 658,904 - = 14,324 658,904
358 [ m 11,586 4,147,788 - : 11,586 | 4,147,788
b-2. EX7|SX 2 EEEM(EZ15Y)
358 | m 11,586 4,147,788 5 e 11,586 | 4,147,788
5 m' 13,616 68,080 6,912 34,560 3,446 17,230 3,258 16,290
b-3. HE A 28t (BZ151)
5 m 13,616 68,080 6,912 34,560 3,446 17,230 3,258 16,290
c HZeu| i s hres . - 18,916 44,793
2.368| ton 18,916 44,793 = 5 18,916 44,793
0 t 18,916 - . 5 91 =
4 U] on 18,916
0 ton 18,916 > - : 18,916 -
1 | A 17 179 - . A7 218,
o Z7| S| Qs 218,179 218,1 218,179 8,179
1 A 218,179 218,179 - - 218,179 218,179
488,798 488,798
44 7HE8UE
488,798 488,798




A H] 24| ZHd
29 3 =2 | e !
=2 9 ct7b o £z} =9 ck7} =9
1 Al 488,798 488,798 . 488,798 488,798
a. 7tEE 28 0](3.0x6.0)
1 A 488,798 488,798 = 488,798 488,798
1 A 52,702,198 - | 52,702,198 -
5. A= Kb XY CH
1 A 55,887,034 - | 55,887,034 -
3 | 4,300 12,900 4,300 12,900 .
51. Al Bl E 40kg/CH
5 cH 4,300 21,500 4,300 21,500 -
4,801,552 4,801,552
52. = X Cf
4,327,348 4,327,348
47 m' 15,480 727,560 15,480 727,560 -
a2 2
9 m 15,480 139,320 15,480 139,320 -
358 | m 11,180 4,002,440 11,180 | 4,002,440 -
b. EZ7|5H 40mm 0|5}
365 | m 11,180 4,080,700 11,180 | 4,080,700 =
T A Mss 4 m' 17,888 71,552 17,888 71,552 .
6 m' 17,888 107,328 17,888 107,328 3
503,874 503,874
5.3. &= XHAj
503,874 503,874
1 EA 189,200 189,200 189,200 189,200 -
a M= PE/ D90
1 EA 189,200 189,200 189,200 189,200 =
1 EA 314,674 314,674 314,674 314,674 -
b. HEYEESE 1=
1 EA 314,674 314,674 314,674 314,674 ?
B 0 | ton 645,000 - 645,000 - -
54 &€ & 50x50x6T
0 ton 645,000 - 645,000 - -
3,076,650 3,076,650
55 & A %
3,076,650 3,076,650
3 EA 860,000 2,580,000 860,000 | 2,580,000 .
a & L8 H3.0xW1.5xR12
3 EA 860,000 2,580,000 860,000 | 2,580,000 =
77 | EA 6,450 496,650 6,450 496,650 -
b2 & & HO.4xW0.5
77 | EA 6,450 496,650 6,450 496,650 -




A I =]
3234 4 28| el H| 11
ct7} = £zt =S4 =9
681 | ton 65,062 44,307,222 65,062 | 44,307,222
56. 4 A 1.5m~3.0m
681 | ton 65,062 44,307,222 65,062 | 44,307,222
0 | ton 65,062 F 65,062 -
57. RZHN 4565
64 | ton 43,375 2,776,000 43375 | 2,776,000 At
0 = 62,460 5 62,460 s
58 +2& 400400
13 | 2= 62,460 874,440 62,460 874,440 M
1 Al 83,888,000 83,888,000
6. 2+ = X} X{ cf
1 4 82,054,000 82,054,000
4,557,000 4,557,000
6.1. 2 0| 2
5,467,000 5,467,000
12 m' 74,760 897,120 74,760 897,120
a o= 25-18-80
16 m 74,760 1,196,160 74,760 | 1,196,160
6 m' 78,090 468,540 78,090 468,540
b. g o] & 25-21-80
54 m 78,090 4,216,860 78,090 | 4,216,860
42 m 75,380 3,165,960 75380 | 3,165,960
b. g o] & 25-21-80
0 m 75,380 = 75,380 =
o B 054 | % 25,380 25,380
054 | % 53,980 53,980
1,651,000 1,651,000
628 2
1,665,000 1,665,000
r 0 | ton 706,750 . 706,750 2
a O|g&E ¢z SD300, D10mm
0 | ton 706,750 = 706,750 i
1.900| ton 696,300 1,322,970 696,300 | 1,322,970
b. O|FEI(YZ) SD300, D13mm
1.900| ton 696,300 1,322,970 696,300 | 1,322,970
N 0.445| ton 680,880 302,991 680,880 302,991
c O|BEEY SD300, D16mm
0.445| ton 696,300 309,853 696,300 309,853
0.023| ton 691,070 15,894 691,070 15,894
d ojlg€EHZ) SD300, D29mm
0.023| ton 691,070 15,894 691,070 15,894




A =] ZH|
=24 2
ct7t =9 =4 =% =9
1 9,145 9,145
e. 22 0.54%
1 16,283 16,283
- 1,471,000 1,471,000
6.3. Tt
. 25 55,640 1,391,000 55,640 | 1,391,000
a. o3 D600x1.6mm, 1RY
0 55,640 - 55,640 -
4 17,870 71,480 17,870 71,480
b. mpgZa 0|32 DE00mm, S 2lY
0 17,870 . 17,870 =
0.54 8,520 8,520
c YR
0.54 - =
1,649,000 1,649,000
6.4. PEEC 2
362,000 362,000
206 7,960 1,639,760 7,960 | 1,639,760
a. PEE2 PE/ D90(75)
45 7,960 358,200 7,960 358,200
1 9,240 9,240
b. €8 0.54%
1 3,800 3,800
74,560,000 74,560,000
65 +ZHD o b " T
74,560,000 74,560,000
B B 1 4 | 74,560,000 74,560,000 74,560,000 | 74,560,000
a T3EHZ % o3 =5H
1 Al | 74,560,000 74,560,000 74,560,000 | 74,560,000




